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[Fig03] MoTs & SFRs 4 discussion || K0925 0.3.6 d13¢512 w/base Bgsd01 || FWHM=0.5dex ; AR=1.0 pix || NGC7722

SDSS stamp

25

20 _E-.-.-.-.E-.-.-.-é.-.-.-.;

10

. ~ |
| | | oo\
e SR e Sl B
S
L | | n |
| 1 1 ' '
: : : - muc
35 P SRR <=05HLR []
: ! : == <= 1.0HLR
30 S T =— > L.OHLR ||
25b . . — ot |
' . . . B integrated

log t [yr]

0.18
0.16
0.14
0.12
0.10
0.08
0.06
0.04

o
S
e

—_ =
0 O N B

MoT = M(<t)/t [M , /yr]

—_ N W A n N

; : : Loy == nuc]
T Tt st @

.~ =

| Asari+07 SFR-SD(1) | I : - ! : !
25 R P s I B o Pt
: : : : 2.0 | b
T SRR ERRRE: S T SRR
LOpim —m b e e e e e Ry — = ;
~ g |
0.5 o ;1' SN ON

0.0 (=8

2.5
2.0
1.5
1.0
0.5
0.0

MoT(t) / MoT(c0)

\
PN . DS
e ew_ .. T

0.30
0.25
0.20
0151
0.10

0.05

0.06 =
0.05
0.04
0.03
0.02
0.01

I
I P P
. 4 -
: s
————————————— e i)
a4
L e i ".:. ...... :"f' -
. N0 : . GO [€63)
P @) SNGYT oo oot ) | |
i i i i i

0.12
0.10
0.08
0.06
0.04
0.02

0.12
0.10
0.08
0.06
0.04
0.02




